
MARVEL™ 
POWER WINDOW
SYSTEM

47

MARVEL™ ELECTRONIC 
SKYLIGHT / WINDOW OPERATOR 
Truth Hardware’s new Marvel™ 
power operator system for windows
and skylights proves that simpler can
be better.  Challenged by window and
skylight manufacturers with providing
a small and sleek motorized system
that is simple to install, easy to operate
and above all affordable – Truth is
confident that the Marvel System is
the answer.

EASY TO INSTALL & OPERATE
With easy to install mounting brackets
used to help secure the Marvel
Operator in the center of your window
or Skylight, this system can be
installed in a matter of minutes. 
• Three styles of mounting brackets

accompany this product to allow for
easy mounting the unit (see Fig. #
for details). 

• Can be face-mounted or mounted to
applications with sills. 

• No transformer required.  Operates
from 110 volt household current. 

• Controlled manually using a stan-
dard, single pole / double throw,
center off momentary contact switch
(ordered separately), or with optional
RF Receiver and Remote. 

• Durable double link chain produces
9.5" of chain travel 

• Electronic limit switch controls the
opening position while the closing
position is controlled through an
internal current sensing feature. 

• Users can operate multiple units
from one manual control switch.

• Rain Sensor (Remote Receiver
Required)

MARVEL OPERATOR CAPACITY
& RATINGS 
• With 45 lbs. of lifting load at the

chain the Marvel System is rated to
lift skylight sashes that weigh up to
90 lbs.

• When used on awning windows, the
Marvel System is designed to work
on awning windows with a properly
sized counter-balance hinge (See
Truth Tips). 

• Marvel Operators are ANSI/UL 325
Certified and CAN/CSA C22.2
Certified.

OPTIONAL ACCESSORIES
AVAILABLE: 

Hand held RF remote  -with 80 feet of
range, incorporates rolling code securi-
ty and is capable of controlling up to 4
individual motors. Includes a magnetic
wall mount (must be used with RF
Receiver Pack).
Rain sensor - connects directly to the
RF receiver for added security, is
designed not to react to fog or dew and
is “heated” to prevent the formation of
ice or condensation and allows the
sensor to dry itself after the rain has
stopped

WARRANTY: Truth Hardware’s
Marvel Motorized Operator System is
warranted for one year against defects
in materials and workmanship on all
electronic and mechanical components.

PRODUCT APPLICATION 
ASSISTANCE: 
If you need assistance with product
configurations to meet your needs,
please visit our website at
www.truth.com.  Under the “Technical
Support” tab you will find all of the
technical information needed to proper-
ly configure and specify all elements of
an automated window installation,
including installation instructions, pre-
wiring and proper hardware require-
ments. You can also contact Truth’s
highly trained Technical Service Staff
who can assist you with the selection
of the appropriate hardware.  These
individuals are available during normal
business hours (CST) at 800-324-4487.

ORDERING INFORMATION:
Ordering of the Marvel System is quite
simple. All hardware necessary for
mounting the system on either a
window or skylight is now included in
the same kit.  

1. Order item number 42.90.XX.100  
2. Specify color: .03 Bronze or .38

White
3. Optional accessories

Remote Control
• 45580 Manual Switch
• 42.90.00.200 RF Receiver Pack
• 42.90.00.201 Hand held remote
with wall mount (must be used with
receiver pack)
• 42.90.00.202 Rain Sensor (must be
used with receiver pack)

TRUTH TIPS: 
1. Awning windows must be equipped
with a properly sized counter balance
hinge such as Truth Hardware’s 13
series or 34 series 4-bar hinges.  All
hardware and motor system warranties
are void if these guidelines are not 
followed.  (See Tech Notes).

2. Unless otherwise specified, the
Marvel Motorized Window and
Skylight System is designed to operate
any properly sized window or skylight
utilizing a hinge system manufactured
by Truth Hardware.  Use of the Marvel
motor system on windows or skylights
with hardware manufactured by com-
panies other than Truth Hardware is at
your own risk. For verification, look
for the Truth logo/name stamped on the
hinge or consult with the window man-
ufacturer.  If your hardware is not man-
ufactured by Truth Hardware, contact
Truth’s Technical Service Department
for available options at 800-324-4487.

3. The Truth Hardware Marvel
Motorized Operator is rated for use in
indoor applications only.

4. The Marvel Motorized Operator
system is designed to be used on sky-

WINDOW/SKYLIGHT

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 1



MARVEL™ 
POWER WINDOW
SYSTEM

47a

light operators that lift to open and pull
to close in the center of the skylight.
Therefore, the stiles of the skylight
panel must be rigid enough in the closed
position to ensure proper corner pull-in
for a weather tight seal and rigid
enough in the open position to provide
proper skylight stability when supported
at a single center point. The wider the
skylight is the more significant this
issue can become. For more assistance,
contact Truth Hardware Technical
Services.

5. Marvel Motor also available with
standard Truth skylight chain bracket.
Contact Technical Service for future
information.

6. For vinyl window applications,
mounting screws should pass through
two PVC walls, or one PVC wall and
one insert wall. For this reason, it may
be necessary to use a longer screw than
is recommended.

INCLUDE TRUTH SPECS 
IN YOUR NEXT MOTORIZED
WINDOW/SKYLIGHT PROJECT

Motorized system for windows or sky-
lights (not exceeding 45 lbs of weight
measured at the chain).  Motor uses a
double link chain providing 9.5” of
chain stroke.  Mounting should accom-
modate wood, PVC or metal skylights
and windows.  Mounting hardware to
be provided to accommodate a wide

range of window profile shapes and
materials. Motor system should run off
of 110 volt current and utilize a stan-
dard single pole / double throw, center
off momentary contact switch or with
remote control & rain sensor.  Motor
system to be ANSI/UL 325 certified
and CAN/CSA C22.2 certified.  This
motor system shall be “Marvel
Electronic Window/Skylight” series as
offered by Truth Hardware, Owatonna,
MN.

Manual Switch Installation 
& Wiring Diagram
• It is recommended that the Marvel unit be controlled with a single pole,
  double throw (SPDT) center off momentary contact switch.  These
  switches are typically available through local electrical supply stores or
  by ordering from Truth P/N 45580. Please see the diagram below for 
  how the unit is to be connected.

• The advantage of the center off momentary contact switch is that as soon
  as your finger is removed from the switch the switch will return to the 
  center, off position and the motor unit will stop at the desired position.

• Please contact Truth's Technical Support Department for application help
  when it is desired to control the Marvel with something other than a
  single pole, double throw (SPDT) center off momentary contact switch.

General Electrical Specification
• The Marvel has double electrical insulation.

• An internal electronic limit switch controls the opening position.

• The closing position is controlled by current sensing.

• The amperage draw of a single Marvel unit at 120 V-60 HZ is .12
  amps at a 45 pound load. The amperage draw at no load is .040 amps.

• It is recommended that the circuit be capable of providing 1 amp
  at 120 VAC of power per window.

• The input voltage for the unit can range from 80 V to 260 V for both
  50 HZ and 60 HZ.

Product Certification
• The Marvel has been certified to the following standards:

  ▲ ANSI / UL 325 - 2003 which is the standard for Door, Drapery,
     Gate, Louver and Window Operators and Systems.

  ▲ AN / CSA C22.2 No. 68-92 which is the standard for Motor
     Operated Appliances (Household and Commercial)CLOSES

OPENS

BROWN

BLACK

GREY
(LIGHT BLUE)

N

L
MOTOR
UNIT*NOTE

*Additional Marvel units can be controlled by one SPDT momentary contact switch.

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 2



MARVEL™ 
POWER WINDOW
SYSTEM
(Snap Bracket Kit)

47b

( )

6

OPEN

FRAME

SASH

3

4

5

2

2

1/2 "W"

"W"

"Y"

[47.8 mm]
1.882

1

[22.2 mm]
.875  MIN.

"Z"

"X"

"W" "X" "Y" "Z"

"A"

"B"

APPLICATION
DEPENDANT

1) POWER SUPPLY CABLE
2) SILL MOUNT FRAME BRACKETS ("A" OR "B")
3) MOTOR UNIT
4) CHAIN CONNECTOR
5) SASH BRACKET
6) ELECTRIC CONNECTOR

FRAME
BRACKET

15.31"
[389mm]

15.19"
[386mm]

1.38"
[35mm]

1.63"
[41mm]

15.86"
[403mm]

15.82"
[402mm]

.728"
[18.5mm]

.482"
[12mm]

RECOMMENDED SCREWS FOR BRACKETS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS
  
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 1 SILL MOUNT APPLICATION 
(MARVEL 42.90.XX.100 KIT)

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 3



MARVEL™ 
POWER WINDOW
SYSTEM
(Snap Bracket Kit)

47c

(MARVEL 42.90.XX.100 KIT)

FRAME

[22.2 mm]
.875  MIN.

[31.7 mm]
1.250  MIN.

[340.9 mm]
13.422

[170.5 mm]
6.711

[379.3 mm]
14.935  REF

3

4

5

1

2

2

6

SASH
OPENAPPLICATION

DEPENDANT

1) POWER SUPPLY CABLE
2) FACE MOUNT FRAME BRACKETS "F"
3) MOTOR UNIT
4) CHAIN CONNECTOR
5) SASH BRACKET
6) ELECTRIC CONNECTOR

APPLICATION
DEPENDANT

RECOMMENDED SCREWS FOR BRACKETS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS
  
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 2   FACE MOUNT APPLICATION
(MARVEL 42.90 .XX.100 KIT)

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 4



MARVEL™ 
POWER WINDOW
SYSTEM
(Snap Bracket Kit)

47d

FRAME

[15.1 mm]
.594  MIN.

[16.0 mm]
.630  MIN.

[340.9 mm]
13.422

[379.3 mm]
14.934  REF

2

5

4

[170.5 mm]
6.711

3

2

1

6

SASH
OPEN

APPLICATION
DEPENDANT

1) POWER SUPPLY CABLE
2) FACE MOUNT FRAME BRACKETS "F"
3) MOTOR UNIT
4) CHAIN CONNECTOR
5) SASH BRACKET
6) ELECTRIC CONNECTOR

APPLICATION
DEPENDANT

RECOMMENDED SCREWS FOR BRACKETS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS

  
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 3  FACE MOUNT APPLICATION
(MARVEL 42.90 .XX.100 KIT)

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 5



MARVEL™ 
POWER WINDOW
SYSTEM
(Snap Bracket Kit)

47e

"A" "A"

VIEW A-A

[33.3 mm]
1.312

[48.5 mm]
1.909

[362.0 mm]
14.252

FIG. 4 MOTOR UNIT OVERALL DIMENSIONS
(MARVEL 42.90 .XX.100 KIT)

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 6



MARVEL™ 
POWER WINDOW
SYSTEM
(Pull Pin Bracket Kit)

47f

[15.9 mm]
.627

[8.0 mm]
.314

[89.0 mm]
3.504

[65.5 mm]
2.579

[15.2 mm]
.598

RECOMMENDED SCREWS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS
  
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 5 SNAP SASH BRACKET
(INCLUDED IN 42.90 .XX.100 KIT)

(INCLUDED IN 42.90.XX.100 & 42.90.XX.101 KIT)
FIG. 11  NON-HANDED SILL MOUNT BRACKET "A" 23169.XX

[13.0 mm]
.512

[19.5 mm]
.768[43.0 mm]

1.693

[28.0 mm]
1.102

[16.8 mm]
.661

RECOMMENDED SCREWS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS

OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 6 NON-HANDED SILL MOUNT BRACKET "A"
(INCLUDED IN 42.90 .XX.100 KIT)

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:19 PM  Page 7



MARVEL™ 
POWER WINDOW
SYSTEM
(Pull Pin Bracket Kit)

47g

( )

[58.8 mm]
2.315

[8.5 mm]
.335

[33.5 mm]
1.321

[28.0 mm]
1.102

[56.7 mm]
2.232

[11.0 mm]
.433

RECOMMENDED SCREWS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

(INCLUDED IN 42.90.XX.100 & 42.90.XX.101 KIT)

[24.4 mm]
.961

[51.8 mm]
2.039

[11.6 mm]
.455

[20.0 mm]
.787

[7.0 mm]
.276

[13.0 mm]
.512

RECOMMENDED SCREWS:
(INCLUDED IN 42.90.XX.100 KIT)
QTY 2 - 4.5 X 35mm PHILLIPS PAN HEAD WOOD SCREWS
OPTIONAL SCREWS: (NOT INCLUDED IN KIT)
QTY 2 - #10 PHILLIPS PAN HEAD SHEET METAL SCREWS
(LENGTH AND THREAD TYPE DETERMINED BY PROFILE)

FIG. 7 HANDED SILL MOUNT BRACKET "B"
(INCLUDED IN 42.90 .XX.100 KIT)

FIG. 8 HANDED FACE MOUNT BRACKET "F" 
(INCLUDED IN 42.90 .XX.100 KIT)

700 WEST BRIDGE STREET, OWATONNA, MN 55060 ■ 507.451.5620 800.866.7884 ■ TRUTH.COM

47 Operators (C8):59-60 Operators (C8)  10/8/09  12:20 PM  Page 8



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on '[Press Quality]'] Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        9
        9
        9
        9
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /ClipComplexRegions true
        /ConvertStrokesToOutlines false
        /ConvertTextToOutlines false
        /GradientResolution 300
        /LineArtTextResolution 1200
        /PresetName ([High Resolution])
        /PresetSelector /HighResolution
        /RasterVectorBalance 1
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 9
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


